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: INSTRUCTIONS :

All questions in the Test are niuitiple choice questions.

- Each question carriés one mrl:, with four alternatlves out of which one answer 's.
correct.

There will be no negative marking.
Use only BLUE/BLACK Ball Point Pen to darken the appropriate oval.

Mark your response only at the appropriate space against the number corresponding to
the question while answering on the OMR Response Sheet. '

Marking more thanrone response shall be treated as wrong response.

Mark your response by completely darkening the relevant oval. The Mark should be
dark and the oval sl'puld be completely filled.

Use of calculator, Mobile is strictly protublted and use of these shall lead to
disqualification.

The candidate MUST remove the last Carbon copy (Candidate’s copy) of OMR after
completion of Test.

The question paper will be both in English & Punjabi. 1In case of any doubt, English
version will be taken as final.
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1. - Match the List I against List IT and select the correct codes given below:

List 1 List II
~A.  Vicious Circle of Poverty 1. Raul Prebisch
B.  Saving Function 2.  Nurkse
- C. Development and Underdevelopment 3 Kalecki
D. Dependency Theory ' 4.  Robort Harrison Frank
(a) A-1,B4,C-1,D-3 (b) A-2,B-3,C-1,D-4
() A-2,B-3,C4,D-1 (d) A-4,B-2,C-3,D-1
7O 1 & got 11 5% fies a9 ni3 Jo7 3 &t 9 rdt 92
get 1 get 11
A T T IS 1. 8= 3fm
B. 9356 2. FIAA
C. feam mR niwy fearm 3. Afedt
D. fags9s fHus _ 4. THIZ IIFG
(8 A-1,B4,C-1,D-3 (b) A-2,B-3,C-1,D-4
(€) A-2,B-3,C4,D-1 @) A4,B2, c-3 D-1 -
2.  Match the List I against List II and- select the correct codes given below:
ListI List II
A. Indicative Planning ' 1. Planning by direction
B. Totalitarian Planning 2.  Planning by inducement
C. Decentralised Planning 3.  Planning from gross roots -
D. Democratic Planning 4,  Planning by flexibility
(a) A-4,B-1,C-3,D-2 () A-2,B-1,C-3,D4
(c) A-2,B-1,C-4,D-3 (d) A-4,B-3,C-2,D-1
Aot 1 gt 11 &7 fiee o9 ni3 Jot 3 a5t R At g%
got 1 ‘ | Fot 11
A, Fasd GrsHer ' 1. fom gniar GierEe
B. nifta'efs wraEer 2. U9 oo wastEet
C. feXesifys vrsse 3. VIORUOOR 3 Ghagdr
D. IS WHeHe 4, TIAIT IT GrsEC
(a) A-4,B-1,C-3,D-2 () A-2,B-1,C-3,D4
() A-2,B-1,C-4,D-3 (d A-4,B-3,C-2,D-1.
3. How much of land area in Punjab is recorded under forests ?
(a) . 6.07 (b) 8. 5
{(c) 100 (d 154
e ¥ fdar it 8= Harst milts foorras o famr 3
(a) 6.07 ' ’ (b) 85
(¢ 10.0 (d) 154
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4. According to 2011 Census, which district of Punjab has got the highest literacy rate

(a) Ludhiana : (b) SAS Nagar

(c) Hoshiarpur . . (d) Jalandhar
2011%»%’13@3%@3%%@@%%3@%
(a) SmrET ' ' (b) WH. T, MA. &9
(c) Jfmus - 4 U '

5.  According to the All-India Debt and Investment Survey and NSSO, non-institutional
sources still provide finance to how much percentage of rural population of Punjab ? -
(a 219 . b) 29.7 o
(¢) 36.8 (d) 306 , ‘ e
oz gt faz »i3 fsdm FeRuE w3 BH € mgH'Y, 39 ez AN o8 I & dd &

@@ 219 ) 297
(c) 36.8 o (d 306
6. Priority sector lending by banks include which of the following sectors ?
1.  Agriculture 2.  Education. :
3. Micro and small Enterprises - 4. Housing
(3 1,2,3and4 | (b) 1,2and3 only
(¢) 1,3 and4only (d 2,3and4only
1. S3taEt 2. fAfunr |
3. puM 3 82 GeH 4. n<H
(@ 1,2,3nmM34 . @ fm=1,2033
© fe=1,3734 : @ fm=2,3nm34

7.  For an under developed country: ‘

A. There is a high degree of correlation between the level of income and the rate of
population growth. ~ .

B. There is low propensity to direct additional per capita income to increase per capita
investment. : | -

C. There is scarcity of uncultivated land. _ 7 _

D. There are different production methods and absence of technological development.

Given above statements choose correct answer below: , ' '

(a) A, B and C are correct (b) B, C and D are correct
(c) A, C and D are correct (d) Al of the above

A. m%ﬁm»@mémwm%mnﬁﬁﬁuj@i&
B. ﬁu'wﬁmﬂﬁm?@qﬂwﬁﬁaaq&ﬁﬂza
c. ISt dEedsz S SR
D. hﬁa@m&ﬁmmn@mﬁmﬁmﬁ?a
Qug fI3 g feg' J5' A ET S ST &
(@ A,Bn3 CHH IS () B,C,n3 DR} 5T
() A,C,nm3DHASTE (d SuIEE AT |
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8. InIndifference Curves Approach, The consumer is in equilibrium when

(8} MRS, ,=P,/P, () MRS, =P,/P,

(¢) MRS, ,=P,/P, ' (d) Any ofthe above
Gemls Tag uds i, Qs Agms i Jor 3 e

(8 MRS, =P,/P, (b) MRS, =P,/P,

(©) MRS, =P/P, (@ Budaz ast &

9.  When total productivity of a function is maximum then
(@) Marginal productivity is increasing
(b) Marginal productivity is decreasing
(¢) Marginal productivity is zero
(d) Marginal productivity is negative
e ¥ =55 & 35 §3ureasT mifteay 3, feg .
(a) FH3 Q3uraasT ¥ gt 3 () A3 B3ueasT Uiz It Y
(c) A E3ueas fivgg 2 (d) A3 B3uressT fae=ng 3

10.  In Cobb-Douglas production function; elasticity of substitution is:

(@ Equal to Unity (b) >1
© <t (d) <Zero
TE-3IWA G3ures T ¥, yEnens &9
(a) fearst @ gog (b) >1
© <1 d) <freg
11.  Shutdown point in perfect competition in short period occurs at
(a) Minimum point of SAC (b) Minimum point of SAVC
(¢) Minimum point of SATC (d) Minimum point of AFC
Y95 Haes fw B % 9 Je 5 = fiig 8ds g
(3 SAC © 583w fiig 3 - () SAVC? fs@sm fifg 3
(c) SATC ¥ fos@amau fiig 2 (d) AFC ¥ fo@a3n fig 3
12.  Equilibrium of profit maximizing monopolist occurs where:
(a) ED>1 (b) ED<1
(¢) ED=1 (d) ED <zero
&8 MiUeEH 95 T8 Sarfusrdt = Haws gRiz Jer 3 iR
(a) ED>1 (b) ED<I
(©0 ED=1 (d ED<freg
13.  Under Cournot’s Duopoly model; equilibrium output is (where n = numbser of firms);
v (2 n/n+l : (®)  n/n+2 '
 (© i3 - (@) wn+4
- I © Infaardt Hiss o, F3®6 §3ure ¥ ( A8 n = Ta o Hitm) -
(a) nntl ' (b) n/mn+2
(€ nn+3 (d) wn+4
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14.

15.

16.

17'

18,

19.

General equilibrium approach is given by :

(a) Pareto (b) Walras

(c) Leontelf (d) All of these

U9 A3es udo fagt argt Ht - .

@ ugwT (b) <TIH T

(c) foBafeg anmer (d) feast Aot enrar

There is no unique supply curve in this market; is the statement which refers to
(a) Perfect competition (b) Monopolistic competition
(c) Monopoly (d) Oligopoly

for a9 g et feduz yadt Ja@ &t gt 3; feT wms Adus 9

(a) YIS HA'ES 5 ' (b) Earfaest yfaufasT &

© aAfoad &% @) rEufoerg 516

‘Pure Oligopoly’ is the market where a few firms produce

(a) close substitute goods (b) differentiated products

(c) identical products : (d) Any of these
‘rj‘uwﬁma’@am%fnﬁaﬁww@waa@maﬁ

(a) foae yfsraus ergnt () T35 gt

(c) & fadhnit Tgndt , @ fogst f59 o @

The point of maximum social welfare on the grand Utility Possibility Frontier is called:
(a) Shut down point (b) Break-even point

(c) Point of inflexion (d) Blisspoint -
%@mwaﬁw@%mﬁawwmgfaﬁaa@?%
(a) FedTefig ORRELRE

() fezast fig () femnefig

Voluntary Exchange Benefit Approach was given by

(a) Samuelson ' (b) Bowen

(¢) Erik Lindahl ' (@ J.S.Mill -

feda =eteer &3 Uy fest ot /it

(a) Ffigars g (b) HIS AT

(¢) niox Bzaw engr (d) AR, TS o

Vertical Equity means

(a) Persons in similar circumstances should be treated similarly.

(b) * Persons in dis-similar circumstances should be treated dis-similarly.
(c) Both of these '
(d) None of these

YZ= ANS3T T MIE J

(a) mﬁuawe@wmmﬁufeewwaﬁ%

(b) mmﬁ@mm%ﬁﬁmwma

(c) fog 5
@) feast &g 3 &3¢
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20. The more inelastic the supply of taxed goods, is the incidence on buyers.
(a) greater (b) smaller o
(¢) zero (d) whole
I »iTits TAZ & vifts SETET YIS, ydwaet @3 9w , =
(a) o= by ue o
(c) frsg d AT : ,
21. Regulation of consumer’s credit as an instrument of credit control was first tried in
- (@ USA () UK
(c) France (d) India
Y fstizss € ffare e Wﬁm?mmﬁm@wﬁwﬁr
(a) nict ®) ga.
(¢ A @ 3z
22. Charles Tibeout in his model observed that many types of public goods are
(a) Local (b) Pure
(c) Club (d) None of these
I9oA ez & Bre viaw feu fadhmm aligr At fx nifta fam? St M @t o5
(a) w3 | b) Hu
() Tt (d) fegst feg' gt adt |
23. Wagner’s “law of ever increasing state activity” was given by Adolph Wagner in
(a) 1850 (b) 1983
(c) 1883 - (d) 1838
o5 T I fafar 2 fadza ot o fso” nidse 2o16g onirgr fsT famr At
(@) 1850 f¥w (b) 1983 &9
(c) 1883 f&w (@ 1838 fw
24. ‘Full Employment’ is a situation characterized by absence of
(a) Voluntary unemployment (b) Involuntary unemployment
(©) Unemployment (d) Seasonal unemployment
YI5 JHaNg fer S miEd® e ToRet ot Afest Y
(2) ffgx sgmarst (b) nEfea ggrardt
C(c) Hgwardt (d) ¥iAH SgFerst
25. ‘Real wage’ can be defined as
(a) Money wage/general price level
(b) Money wage minus general price level
(c}) Money wage at the base year
(d) Money wage inflation
MRS Hrigd! § Ufases i3 77 Aaer O
(a) Trefoa Hﬂga"r/aﬂws' Uud
(b) Hefed vagdt wed Aues ShHsuTS
(c) U9 RS ‘3 Hefed Hrgst
(d) Hefex vgdt Heo REtSt
Paper-II (Economics) 6




26. Various versions of *‘Quantity Theory of Money’ try to examine
(a) Quantity of money and general level of prices
(b) Quantum of money in Circulation
(c) Inflation in the Economy
(d) Money and Bond Marke! R - - '
‘Hegr 2 ufgHre fiaiz’ 2@ fefds Hndest 3 feret Al 99 o Jfm i3t 9
" (a) W T uferrE w3 W3t @ AUes e
(b) T 9 Yo o 3T
" (¢) wigY feerwr e HeTREST
(d). HET "3 TF TAY

27. Money multiplier depends upon

(a) Reserve-deposit ratio ) Cxirrency-dcposit ratio
(c) Monetary base (d) All of the above :
HOT" JER foggd sger J |
() IFT-T NS (b) SIA-mff niguTS
(c) Hefed nag ) SuIEB AT

. 28. In Keynesian demand for money model, “Buils’ are speculators that expect
(2) Bond price to ‘fall’ - (b) Bond price to ‘nise’
(©) Moves out of bonds to cash _(d) none of the above
AEH T HeT & Hal WSS @ “ds"myrad I6 1 »E J3e 78
(a) o3 AHIT 2 ueE & () FIEmMSteIuE S
() =333\ IFBwST Td (@ Sudes ast &t

29. In Keynesian approach, demand for money is an
(a) increasing function of income only.
(b) increasing function of income and decreasing function of rate of interest.
(c) increasing function of rate of interest and decreasing function of income.
(d) increg‘sinégmction of income and rate of interest.
udu 199, HeTr & Har
() »Es T HeE TOTr @5s 9 |
(b) PTHES T TqET THS M3 fonra & wat T WleTr ©%s I
(c) fenm & T3 v JuT SBG M3 NTHES T U S56 O
(d) nHEs niR fonm & T9 T SuTT @@ 9
30. Absolute income hypothesis predicts :
(a) decline in the marginal propensity to consume when families move to higher income

level.

(b) increase in average propensity to consume when families move to higher income
level. : : -

(c) decline in average propensity to consume when families move to higher income
level.

(d) increase in the marginal propensity to consume when families move to higher
income level. ' ' '
fog® ninies fimats yse urdt e J N '
(a) # ufgerg 89 niHes UuR ‘I uJee 7 3t AHE Busa yfeast e ooff
(b) & ufeeT €8 viHes dag 3 uJoR I5 3 minz Guda yfesst Re ear
(¢) & ufgerg €3 nmiEs YuT ‘3 ugee 6 3t iR Busa yfeadt e it
(d) 7 ufgers 89 nmies YU 3 udae T6 3t Az Qusar yfesst e =
Paper-1I (Economics) 7 ' ' C



31. ‘Imitative’ and ‘Emulative’ nature of consumption is associated with : “a]
' (a) Absolute income hypothesis (b) Relative income hypothesis i
- (¢) Permanent income hypothesis (d) None of the above ,

guaar & ‘582’ w3 ‘IR I35’ o yfeast AYUs J:

() f53® niEs U3 &% ()] mﬁtrmﬁ?uiam' _3"
(¢) FEE nHEs fROi3 519 (d) Qudas 3=t adt ‘
32. According to Kaldor’s Business cycle, investment is directly related to
(a) Income (b) . Rate of interest
(c) Stock of capital (d) None of the above
BT T YT IX9 migArd feem T YsH REU 9 ¢
(@) MHTS &8 b formd s
(¢) U e a8 | @ Budaz =t &t
33. The book titled ‘A Contribution to the Theory of Trade Cycles’ pubhshed in 1950 is
written by
(a) Hicks ~ (b) Samuelson
(c) - Kaldor (d) Schumpeter
‘A Contribution to the Theory of Trade Cycles’, 1950 fHa®Y & yFza fimdt arct /it
(a) faam onrar (b) RHB®Fs gmrar
(©) FTEST o - @) Hites g |
. 34, The Monetary policy will be ineffective with the increase in money supply, when
' (a) IS curve is horizontal (b) IS curveis vertical
© LM is vertical (d) none of above
Fefax &3 vaar @ usdt e ot &% nygerRst Ja
@ ISTBY ®) Iseaauge?a
() LMu3F?I (d) . Susa3 It adt

35. LM curve is steep when
(a) Interest elasticity of money demand is low
(b) Interest elasticity of money demand is high
(¢) Income tax increases
(d) Income tax decreases

LM =9 & eo'E 3t 3t I we _
(@ HeT IS formssaWed (b)) HeT Ha S ferrA soR €99
(¢) PIHEG T TUET I | @ MEs aduleer 9

36. Factors that shift the IS curve to the nght are .
(a) decrease in taxes and government spending
(b) increase in taxes and govt. spending
(c) increase in govt. spending and decrease in tax
(d) decrease in govt. gpend w%and increase in taxes

Fad a3 fa 1S ¥a9 § An
(a) STt w3 FEE ¥ w9 e @f
(b) T M3 AEET € uId f9 Tr :
() FIXT ¥ uJe 39 oo n3 a9 &g andt
(d) R ¥ uJe T it i3 a9t g =or
Paper-II (Economics) 8 C



37

38.

39,

40.

41.

Multiplier will be lower with

(@ HighMPC , () Low MPCc
(c) HighMPI (d) Low MPS
e ujg I _

(a) GIMPCEHTE ~(b) e MPCec &S
(c) G MPI&ES ' (d) uic MPS 3%

Expansionary Fiscal policy will be more effective on income when given the IS schedule:
(a) LM schedule is relatively flat (b) LM schedule is relatively steep

(c) LM curve is vertical (d) None of the above

forfys gwart A3 nmivs €3 20 ygrerst Fat 7T IS B Hérénwa@
(3 LM gol SBEEHR AHSS J (b) LM Fot 3553Ha fRit &

(©) IMETuzet I (@) Sudaz a=t &t

The establishment of GATT resulted in: _ '

(a) Increased tariff rates ~ (b) Decreased in total world trade

(¢} Increased protectionism ~ (d) Lower tariff rates

GATT <t RauaT & &3t feafan At |

(a) Ut 2fge et () s fepe 2us R ot

(c) =fanr Fhmpee S (@) e 2fos e

Who has been appointed the first vice chairman of the newly created NitiAayog:

(8) Kaushik Basu (b) Arvind Panagariya

(c) Abhijit Banerjee (d) Bibek Debroy

&% 58 313t nmar T ufosr Qu-Sneils farg aafemr fanr 3

(a) dffx =\ | (b) nifdE uarstnr

(c) vifsiits Baot @ faux éa%ita

According to C.S.0 estimates of National Product Secondary Sector mclude which of the
following sub-sectors:

(a) Manufactunng Sector

(b) Manufacturing + Construction

{(c) Manufacturing + Construction +Elec11'icity + Gas and Water Supply
(d) Manufacturing + Mining

amzérﬁsgleﬁcso MEHS mEHTd, diF 839 fde Jat fofani feg' faosr Gu-use
aris ger '

(@ feowzaze

b) faaws + St _

(©) m+m+ﬁﬂﬁ+aﬂb@%m
d) fsoHE + WS

Paper-H (Economics) 9 : o C



42.

43,

44,

45.

46.

Demographic Dividend in India is defined as:

(a)  All Adult Population

(b) Population excluding old people

(c) Population excluding children and old people

(d) Population which excludes unemployed persons

F93 &9 78 nixs fogms § ufgefis dis ater 3

(a) Frdt ST ASAIPT

(b) FH9d It § T T ASATENT

(c) waAfdr fan f&0° dfont »i2 aoga Sat § FEY ASRRMT
(d) - A&Rftpr fan 9" Sgvare Sat § dfenr A 3
Development expenditure of the Central Government does not include
(a) Defence Expenditure

(b) Expenditure on public services

(c) Expenditure on social and community services

(d) Grant to States

dvd AT ¢ fearA usfont &g mriks adt Jer

() H3fenr vE (b) w3 Aeet ‘3 g
(¢) FHVE N3 3EOR A= ‘Iugg (d) I § et

Gross domestic capital formation is defined as

(a) Flow of expenditure devoted to increase or maintaining of capital stock
(b) Expenditure increased on physical assets only

(¢) Production exceeding demand

(d) Net addition to stock after deprecatlon
% wIg Ut fsanz § ufgsms 3T wfer 3

(a) gﬁmgw@z»@w&nmwm?m
(b) frAge 3f3a Auding 3 <fto o399

(¢) ¥a 3 oY G3ueEs

(d) ﬁaur%?ameﬂaafeamw

- Our ﬂnanmal system has provided for the transfer of resources from the centre to the

states; the important means of resource transfer are:

(a) Tax sharing (b) Grants-in-aids

(¢) Loans (d) All of these
mﬁﬁa’fumﬁ%aﬁ?wé@snﬁwé}aw?rmﬁ% Rfipnr &t aedt @
HJ3?YIE ATG IS

(&) W ®) e

(c) fa= @ fegrAd

Which of the following is not viewed as a National debt ?

(a) Provident Fund (b) Life Insurance Policy

(c) National Saving certificatess - (d) Long-term Government Bonds
_Wﬁﬁnﬁﬁaﬁﬂamﬁﬁaé%éwmw _

(a) y=izees (b) TES GHr U

(c) THIE 9938 YH'E U3g (d) Tiow H AgSt 113

‘Paper-I1 (Economics) . 10 ‘ ' C



47. Ifan economy is in equilibrium at the point where plan to save and to invest are equal; then
government expendifure must be: :
(a) Zero ~ (b) Equal to government income
(c) Larger than government income (d) Negative
#a9 ¥ migafeerar €r fig ‘3 figes g 3 fa wo3 n fs2n & S AHs B, 3

ﬂaaﬁraaaﬂ'gaairwﬁl?%
(a fA=g - ‘ (b) FHIIE niHEs € IIEHI
(c) RIAT miHes &8 2 (@ foe==

48. Devaluation of currency will be more beneficial if
(a) Prices of domestic goods remain constant
(b) Prices of exports remain constant
(c)  Prices of imports remain constant
(d) Prices of exports rise proportionately
HETT T niRNBE Trfeere 39 Ad9:
(@) wIG THSt it siHZT AfS SfTEit T
() fogmrst It vzt Afag IfGEr o5
() o3t Tt 3T Afte afddht o5
(d) faIorst it StH3T nizursa Fud I8
49. Fiscal deficit in the Union budget means
(a) The difference between current expenditure and current revenues.
(b) Netincrease in Union government’s borrowings from the RBL ,
(c) The sum of budgetary deficit and net increase in internal & external borrowings.
(d) The sum of monetised deficit and the budgetary deficit.
e S feft we T niga 3
(a) T uFY M3 T nTHTS T vizg
(b) dTH FI=d & RBI 38 Gurg fag ¥u =r
(c) aric W w3 niTgat w3 gt Guet e o el T s
() e w2 w efew w2 w A

50. Assertion (A): Agriculture is no longer the gamble of the monsoons.

Reason (R) : There is recent expansion of dry farming in India

(a) Both (A) and (R) are true and (R) is the correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(¢} (A)istrue, but (R) is false

(d) (A)is false, but (R) is true

G5 (A) : 3terdt 9T HaPs o gor adt 9dt

a3 (R) : mﬁammuﬂaaa‘r?feﬂaw%

(a) ¥ (A) "3 (R) & T& M3 (R), (A) & Fit oo 3

(b) € (A) M3 (R) 3 75 m3 (R), (A) & A fenrfomp &t T

(© (A)ITIUIR) I3 I

(d (A)I®B3 I, US (R) 3t I ‘
Paper-I1 (Economics) 11 C



51.

52.

53.

5.

The Economic cost of food grains to FCI include the following :

1.  MSP including central bonus 2. Procurement incidentals
3.  Cost of distribution 4.  Food grain losses

(@ 1,2and3 (b) 1,2and 4

(© 1,2,3&4 d 2,3&4only

FCI § aa-nisret St nirafae ®a3 &9 9ot fo3 s 96

1. JTI 55K &% MSP 2. nEsd3 yadt

3. <TG 4. W& T 5EAS

(@ 1,2m33 b 1,2n34

(© 1,2,3n34 (d) A=W 2,3n34

India’s ‘Green Actions’ does not include

(a) Cutin subsidies (b) Increased taxes on fossil fuels
(¢) Increase in petrol and diesel prices (d) De-urbanising the economy

393 ¥ ‘Green Actions’ 29 AfH® &Jt 99 ,
(a) RISt feg I3t ' (b) vsge gns €3 <0 &9

©) Wenm3smahstiffgeg (d) noefeerg o d9-rfodtaes

Statistics is defined as the aggregate of facts affected by

(a) One particular cause (b) Two causes only

(c}) Multiplicity of causes (d) Not affected at all -

Hfmnla?a%ﬂwqwsswéﬂsésa ‘3 yfgsmz &7 famr

(@ Fxfehmas ®) freesaes

() TISFI T @) fooes yges &t I

Statistics is : |

(a) Anartonly (b) Art and Science

(¢) Scienceonly (d) neither Art nor Science

(@) frezaw ) T el

(c) frge fefomms (d) & & n3 & feforrs
is a suitable method of collecting data in cases where the informants are literate

and spread over a vast area.

(a) Mailed Questionnaire Method

(b) Direct Personal Interview Method

(¢c) Indirect Oral Interview Method

(d) Information Received through Local Agencies

7Y gueT °F @B Uz fol 95 w3 fens 839 9 @8 05, ___ Ao st ags &t gost

fedt 3

() 5 Tt A ot yreHdr fedt
(b) Y fenia3te3 AvdAzaTg fedt
(¢) riySy At FEsare feudt

d) Hmémaﬁrmmﬁr

Paper-ll {Economics) 12



56.

57.

58.

59.

Assume that you employ the following data while conducting a statistical mvestlgatlon -

i.  Estimate of personal income taken from RBI bulletin

ii.  Financial data of Indian Compames taken from the annual reports of Ministry of Law
- and Company Affairs.

iii. Tabulation from schedules used in interviews that you yourself conducted.

iv.  Data collected by National Sample Survey.

Which of the above is Primary data :
(a) Onlyi (b) Onlyiii
(c) iiand iii (d) 1i,iiand iii

mﬁ%%ﬁwmmmw%nﬁwywa@a

i. RBI g&fes 3 &2 a2 feniadias nies @ nigHs

ii. mm%auﬁnmﬁmﬂénmwwmﬁﬁaémémm%
a3

iii. f%zafe@ﬁaa’rzﬁl'nmnmﬁsa‘lﬁﬁ’r ﬁaeawmw&vmm

iv. JHES AUS RIR uiar a3 a3 o nias

8ud fofantt 29 fxo2 el a3 76 -
(@) froei (b) freeiii

(© iinTiii ) i,ii »3 iii

Which of the following is/are the basis (bases) of classification of data?
i.  Geographical ii.  Chronological

iii. Qualitative iv.  Quantitative

(@ i&ii ' : (b) ii&iv

(©) i,ii, il &iv (d) iii&iv

ot fefant F9 fagzr viafant @ <gditaras o moa 3 ¢

i. sdafsa ii. M

iii. JETIHA ' iv. dE&3HA

(@ im3ii b) iinZiv

(©) i ii,ilin=Siv d iiin3iv

Row heading in a table is called

(a) Caption (b) Stub

(¢) Table Number (d) Title

fex Aot feu o34 o Mand s ¥

(a) Uz ' (b) HE

(c) RISt Aftmr (d)  fhedd

According to Sturge s’ rule, the number of classes k is given by
(a) 1+3.322log 0N (b) 3+3.223 logoN
(¢) 10+3.22logiN (d) 10+0.322logN
Sturge ¥ f&tH nigA™g, k Rt <t fasd) &5 =t O

(&) 1+3.322log;eN (b) 3+3.223 logN
() 10+3.22logoN - (d) 10+0.322 logoN
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60.

61.-

62.

63.

6S.

66.

The magnitude of class (i) is given by ' _ hE
(a) Upper Limit + Lower Limit'2  (b) Upper Limit — Lower Limit/2

(¢). Upper Limit — Lower Limit (d) Upper Limit + Lower Limit

B nigest v nigd ffFr Ater O | .

(a) Sugdt AT + IBE HiH/2 ) SuId AW - JsF A2 .
(c) Sudt A - Jost A (d) SuTst AHr + IFE A _
The algebraic sum of deviations of a given set of observations from their arithmetic mean is
(a) Always Positive ~ (b) Zero ,
(c) Maximum (d) Minimum
@aaﬂwéfe%aéﬁzaﬁz@w%n‘u:mgaémé&amermmga%
(a) TIET T&SHA - @) frew .

(c) nifaasH : @ fo@a3H

‘The formula for calculating probable error for coefficient of correlation is

(@ 1-An (b) 0.6745(1 ~*)~Nn

() . 0.6475(1 —r)Nn @ (1-*An-1

Afoddy 2 Tix BE Ages 39T O a=aT Bt TS 3

(@ 1-r/\n ®) 0.6745(1 -°)n

(¢) 0.6475(1 -©*)\n @ (1 —*An-1 |

Standard Deviation is always mean deviation.

(a) Greater than or equal to (b) Lessthan

(c) Equalto (d) Less than or equal to

Yy feoss o o fegdae _  dord

(a) nifax 7 g9vEg (b) ule

(c) TJIEd (d) e ¥ g9ug

Relationship between Q), Q;, Q; and Md is given by

(@ Q=sQ=Md=<Q; () Q2Q=Md<Q;

© QsQ=Md2Q; d Q+Q:sQ=Md

Qi1, Q2. Q; M3 Md fegarg Ay fesrAer J

(@ Q<Q=Md<Q; - ®b) Q2Q:=Md<Qs

(© QsQ=Md2Q; d Q+QysQ=Md

The empirical relationship between mean, median and mode for a moderately
asymmetrical distribution is given by :

(8 3 Mean-2Median ~{(b) 3 Median + 2 Mean

(¢) 3 Median -2 Mean (d) 3 Median -2 Mean/2

&5 WRSS M 23 591 Huns, Hitnier 3 Sgea o YGaiig /b fesr far 9
(a) 3 HoHS - 2 Wit () 3 Wt +2 Hovs

(c) 3 rifovar - 2 HOHTs (@) 3 ¥fam@r - 2 Hors/2

If the coefficient of quartile deviation is 0.6 and Q.D.= 15; then Q, & Qs are
(a) 10 and 40 respectively (b) 40and 10 rcspectlvely
(c) 50 and 30 respectively (d) 20 and 60 respectively
Hog T390 feuss o @ 0.6 M3, Q.D.= 158 Q;, M3 Q; 75

(@) TIHTT 10 ™3 40 (b)) FHET 40 i3 10

(c) TIHTT 50 M3 30 (d) THET 20 N3 60
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67.

69.

70.

71.

Coefficient of determination (rz)_ is given by

(a) Total Variance/Explained Variance

(b) Explained Variance/Total Variance

(¢) Unexplained Variance/Total Variance

(d) Explained Vanance/Unexplamed Variance

fsquras v gatal (7) fdzr #er 9 -

(a) IS Fa3vmine fFa3r C (b)) AuRe fFE3/Es fEaaT

(©) nruEe fEaz/ds fFa3r (@) AR Basminume fEa3

The consumer price index for a group of workers was ¥ 250 in 1994 with 1980 as the base.

The purchasing power of a rupee in 1994 as compared to 1980 is

(a) 250 (b) 040

{c) 080 . (d 025

1994 39 1980mmmmam@#%f§amaz&@uawmmzsoauéﬁr
1994 &5 udte St 1980 © HaES 9 '

(a T2.50 | (b) %040
(© %080 () T025

Mean of 20 values is 45. If one of these values was wrongly taken as 64 instead of 46, then
corrected mean would be _

(a) 44.1 - (b 45. 9

(© 42.1 (d 434

20 W&t &t MRS 45 3) %w%%%amaaﬁm46éwaﬁwm| 20i)
WAz Jeart

() 44.1 : (b) 459

(© 421 (d 434

Consider the function y = (x — 2)%(x — 3)°. Which of the following is correct in respect of
this function

(a) There exists maxima at x =2
(b) = There exists minima at x =2
(¢) There exists maxima atx =3

- (d) There exists neither maxima nor minima at x =2

Wy =(x-2°(x-3) §ﬁ@aﬁﬂm%mﬁaﬁa%ﬁwﬁvfaﬂ$m%
(a) Fafrx=2‘3dwr

b x=23fufarderd

() Rafirx=3 ‘3 Jord

(@ x=2 3 & Aafir der J & 3t fifemr

For a function y = f(x); the condition for maxima to exist is '

(a)  d2y/dx? should be positive () d*y/dx* should be negative

(¢©) d*y/d?shouldbezero (d) Value of d’y/dx* should be infinite.
%5 y = fix) B, Aafnr @ 97 €t /fast 9 : -

() dydlusEisdzaderd @) dydd fasa Seade Y

() d4yid A= 3= sdter 9 @ dydd TS wfsafes 7T sdte 9
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72.

- 73.

74.

75.

76.

7.

The slope of AC is given by

(a 1/q(AC-MC) - 1/q(MC-AC)

(©) Vq(AC+MO) (d q(AC-MC)

AC & oz ot ot 3

(8 1/q(AC-MC) (b) 1/g(MC-AC) .

(© Vq(AC+ MC) d q(AC-MC)

If consumption function is given by C = 100 + 0.8Y. Then the value of multlpller will be
(a) 08 : ®) 100 ,
© 5 | @ 125
ﬁaa@uaawmﬁwﬁwﬁc—momsvmaﬂsm

(@) 0.8 () 100

(© 5 : () 1.25

For the demand function X = 100 — 4p - 2p”. The price elasticity of demand at p =5 is
@@ 1 (b) 0.007

© o0 @ 4

11 €86 X = 100 - 4p — 2p* ST p=5 3 a1 T H3 %o 9

@ 1 (®) 0.007

¢ 0 @ 4

The standard deviation of natural numbers 1 to 5 is

(@) 1414 . | (b) 2.326

(c) 14.32 (d) 4.263

1 3 5 yfafsa dfwrer o gy feoms 9

(@ 1414 ®) 2326

(¢) 1432 (d) 4.263

In a normal distribution, arithmetic mean + Quartile deviation would cover
(a) 50 percent of the items ‘ (b) 80 percent of the items

(c) 68.27percentoftheitems - (d) 57.51 percent of the items
¥ AUSs T9ditaas T HuHa + ggoud feoms Wdar

(a) Het = 50 YA (b) W T 80 YIHI

(c) Het e 68.27 U3 (d Heter 57.51 yEiEs

The value of correlation coefficient is termed to be highly significant if

(a) rislessthan P.E.(r) (b) ris greater than P.E.(r)

(c) rislessthan 10P.E.(r) (d) ris much greater than 6P.E.(r)
Afordsy i € HS wif3 Arad faor AT J Aad

(a) r,PE@aFTUZY ‘() rPE(M&® WY

(© 1, 10PE()&F eI (d) r,6P.E() s Tu
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78. The value of oorrclatnop coefficient ranges from

(a) Otol 7 (b) Otooo
(¢)  -ttol : (d —otoco
arara'?wsae*%
(@) 0313 - b)) 03 o I
() -131378 d —-oFoI
79. The ranks according to two attributes in a sample are gwen below
Ri:12345
R:x54321
The rank correlation between them is:- :
@ 0 | ® +
{c) (d) None of these
‘ feaﬂwﬁgeaméméﬁafe%eaﬁﬁ%aéaﬁ
Ri:1 2345
R:54321
Gust few wowr AfoHST Y | :
@ 0 ®) +
() -1 (@) fegst R ast &t

80. If value of r is computed to be 0.8; it implies that
(a) 80 percent of the data are explained
(b) 80 percent of the data are unexplained
(c} 64 percent of the data are explained
(d) 64 percent of the data are unexplained

Hod 1 ¥ HE O aisar 0.8 9, fore migg

(@) 80 YSH3 wids FURT 76 ®) Sﬂqéiman?a%mmmzaa

(©) 64 YSHS viaz FURE 36 () 64 YEIHS nigd MIAE I5
81. Which of the following is correct in case of relatlonshlp between S.D and Range?

(@) S.D.=1/6 Range S.D. =6 Range

(c) S.D.=Range d) S.D.=3/2 Ran

S.D.w@f%ma'%eammfeaav fé‘aﬁaafﬂﬁ

(@ S.D.=1/6ferag (b) S.D.=6 ferarg

(c) S.D.=ferEg ‘ (d) S.D.=3/2ferEg

82. The samples A and B have the same standard deviations; but the mean of A is grmter than
B. The coefficient of variation of A is

(a) Greater than thatof B (b) Less than that of B
‘ g.‘)w Equal to that of B (d) not defined at all
Am%Bermmﬁwmﬁ uaAafﬁmMBawétr%! A?T%?Erawa%
(a) Ba® U : (b) B Fufe
() BR¥ETHg @) ufssmEsatd
83. Sum of deviations of the items fiom the 1s always'zer'c').
(a) Median (b) Mean -
(c) Mode ' (d) Geometnc Mean .
Hot & 3 %azw TRz oNr fRgg §or 9
() Hitm () Hos
(c) TIHA (d = afES Hors
Paper-I1 (Economics) 17 C
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84. Which of the following are the objectives of the Commissions for Agricultural Costs and -
: Prices (CACP)?

L
1L

IIL
V.

(a)
(¢)

To stabilized agricultural prices.

To ensure meamngful real income levels to the farmers.

To protect the interest of the consumers by providing wsenhal agncultural
commodities at reasonable rates through public dlstnbutlon system o

To ensure maximum price for the farmer.

L IL 111 ® LILIV

II III v d LIV

wm%aﬁmn@mmmmmm%@éﬂmaﬁ?

I
IL
111

V.

(a)
(<)

ﬂa”raﬁwanﬁaaaa?;r
AgSt 8t uTOE § FOEARd €5 YT Il IwE M3t ‘3 Qudau Feer &
Sugare ¥ fozt <t Iften @t

I 1, I ® LILIV
10, 111, IV - @ LIV

- 85. Which of the following were the aims behind the setting up of the World Trade
Organization (WTQ)?

L
1L
HIR

V.

(a)
(©

Promotion of free trade and resource flow across countries.

Protection of intellectual property rights.

Managing trade between different countries.

Promotion of trade between the former East Bloc countries and the Western world.
LILIILIV (b) ILIII

LILHI (d) LI

ﬁnewanm(wm)e’rﬂmwmasrﬁfswféaﬁw@%ﬂﬂ??

L
IL.
111

V.

(@)

(c) .

ISt fegard g333 Tud ni3 Afindt T Y=g

ot s rifaargt & Jhnr _

-Fy A fegarg Ty T YHUs FI5 :

IS YIE 9% Rt vz Uit fere feoare TuS @ AHTES
LILULIV (b) 1L :
LILIII (d LI

86. Regional rural banks

L
1L
1.

have limited area of operation
have free access to liberal refinance facilities from NABARD
are required to lend only to weaker sections

(@ ILIIOT (b) LILII
© LI (d) onlyl
PECTE fra’ ¥z
I n”rﬁ{z ATIH 3T I :
IL. N@Mw@wm&gn&wmaﬁm%
m fheodasEadBuafdeas
(a) II1III () LILIH
(00 LI _ ~ (d) oniyl ,
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87.

89.

Match:the List I with List II and select the correct answer usmg the codes given below the
lists:

List I : ListII
A, NABARD | 1. 1995-96
g RIDF 2. 1982
C. RRB 3. 1998-99
D. Kisan Credit Cards 4, 1975
(@) A-4, B-1,C-2,D-3 () A-2,B-1,C4,D-3
(c) - A-3,B-4,C-1,D-2 (d A-3,B-2,C-1,D4 ,
gt 1 o3 gt 1 & fiess @9 i3 It 3 a5t &t AoesT & Adt 839 93
g F 11
A. NABARD | 1. 1995-96
B. RIDF 2. 1982
C. RRB 3. 1998-99
D. fars 3fse a9 4. 1975
‘(a) .-A-4, B-1,C-2,D-3 (b) A-2,B-1,C4,D-3

(©) A-3,B-4,C-1,D-2 (d) A-3,B-2,C-1,D4

Which of the following committees has been set up in India for identification of- below
poverty line (BPL) famnhes in urban areas?

(a) Tendulkar comrmttee
(b) Saxena committee
(¢) Lakdawala committee
(d) Hashim committee

mmmmw;aﬁmamwmﬁaa@mfﬁm
ANt gEEt ety

(a) TSI INS
(b) FASAE IR
(c) TBIAZTH AN
(d) oy gt

Arrange the chronological order of the launching of these schemes are
1.EAS 2. TRYSEM 3.JRY 4. RLEGP

(@ 2413 | ) 4,231

© 42,13 : d 243,11

fegat reltHt § fegat @ &g I3 @ AT wigAe HET &9

1.EAS 2. TRYSEM 3.JRY 4. RLEGP

(@ 2413 () 4,2,3,1
() 4213 - d) 243,
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921.

92.

93.

94.

- Those variables that the model tries to explain are known as:

(a) [Exogenous variables - (b) Endogenous variables
(¢) Simple variables ‘ (d) none of the above
83 g izt & a3 Hss fonrfimr 395 < dfm ader J, FT8T T57
(@ TR T (b) niEgat va
. () FOUES 99 _ (@ Budxz agt adt
Who amongst the following was NOT the winner of Nobel Prize in Macro Economics ?
(a) Milton Friedman (b) James Tobin
(¢) Robert Lucas (d) W. Phillips
Jot fefanit fed' ooz At nige-RAH3T &9 8% yarag fenzr adt 97
(@) fiwses i ®) A
(c) F=ge ZaH (@ a8, fefsu
GDP deflator is:
(a) Nominal GDP/Real GDP (b) Real GDP/Nominal GDP
(c) Nominal GDP — Real GDP (d) Real GDP - Nominal GDP
GDP w2z T J
(a) wAEfe GDPMIFRS GDP (b) MRS GDP/Arafea GDP
(¢) FHfex GDP - »iA® GDP - (d) mF% GDP - mgfeq GDP

If an Indian resident owns an apartment in New York, the rental income he eams is a part
of:

(a) United States GDP () Indian GDP

(c) United States GNP (d) Indian GNP

o9 B 39t Tl © 68w &g nurgenT 3, 8Rg fise Tt fage & nmies
9 2 :

(a rItEt GDP =" ) I3 GDP T

(c) wHSET GNP & (d) FIIT GNP e

National Income is:

(a) . GDP- Indirect Business Taxes (b} NNP- Depreciation

(c) NNP- Indirect Business Taxes (d) GNP- Indirect Business Taxes
IHET vinEs J:

(a) GDP- »iy=d 2ud &g (b) NNP- HS urer
(c) NNP- »iy=y 2u9 &9 (d)} GNP- »=2H U9 59

95, In national income accounts, ‘consumption of fixed capital’ is commonly known as:
(a) Consumption of goods . (b) Fixed capital
(¢) Depreciation {(d) Proprietors income
IHeS ninies &9 ‘Afag Uit o Qudar i 39 °3 ao@er 3:
(a) eAgnite Qusa - (b iU
(c) H@urer | ) WS & Hes
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If the nominal interest rate is 8 percent and inflation rate is 2 percent, then the real interest

96.
rate is:
(a) 2 percent ' (b) 4 percent
{c) - 6 percent .(d) 16 percent
ﬁaamﬁaﬁmmeasqa‘mzﬁmﬁuea'ﬂéﬁreazqérﬂa%, o9 v fenma w9 9
@ 2ydimz | ®) 4ydns
(© 6y3m3 (d 16 yFtEs
97. The accelerator assumes
(a) Constant MEC
(b) Constant multiplier . _
(c) Constant relationship between net investment and the rate of change of output
(d) Constant relationship between saving and investment
3995 THUST FIeT I -
(a) AfET MEC
(b) A9 gl -
(c) Hu fo2m w3 B3ures & ufgesss w9 ¥ Afte HYg
(d) =93 i3 fon &9 mfbag iy
98. An outward shift in Marginal Efficiency of capital
(@) Increase aggregate demand (b) Decrease aggregate demand
(c) Decrease consumption (d) Increase consumption
gt 3 "3 G3ueasT A groge ufsesss
(@ % Hafegeor (b) & ¥ o it
(c) Susa fEg aft (d) Susa g e
99. If an increase in investment leads to increase in national income, it is called:
(@ Accelerator | (b) Multiplier
() Monetarism ~ (d) Aggregated Demand
Rd folm 89 T 57 THedt nives Ry e gor 3, fog so@er -
(@) I | ®) FE .
(c) Hedawa | @) @A
100. An increase in money supply in IS-LM model:
(a)  Shifts LM curve downward (b) Increases income
(¢) Reduces interest rate (d) all of the above
IS-LM H5as s e & yast g e - 3
(@) LMI§ I 33 ufgeass aoer
(b) rmHEs TR Y
(¢) forA e g uegerd
@ SWE=Fy |
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101.

102.

103.

104.

105.

Decrease in taxes in IS-1.M model
(a) Shift IS curve to the right
(b) Decrease in income

(c) Decreases interest rate o
(d) All of the above a
IS-LM Hi3w oo ot g =it
(a) IS %9 § AR ¥ ufgeass aget 3

(b) rHes 9 Dt Tt 9

(c) fenmeg et aedt I

(d) 8Budsz A9

Which of the following is true with ‘Fiscal expansion’:
(a) Increase in taxes '

(b) Increase in government purchases

(c) Shift aggregate demand to left

(d) Shift IS curve to left

R e 5 ot Rfamt 5T faomr AT

(a) ot fFgeur

(b) FAIAS yIteEdnt feg T

(© I5HaE W R I35 ufsesss x99
d) 1S a9 § ¥ I ufewess J9et J

Who amongst the following is NOT a new-classical economist ?
(a) Robert Lucas (b) Robert Barro

(c) Milton Friedman (d) Edward Prescott
Jat ffamt 145 fagsr o= uduad=ret nigEr At adt 37

(a) I992 BIA ‘ (b) Ju9e a9

() fimwes i (d) W< Yrde
‘Output gap’ measures '

(a) Actual Output — Consumption (b) Actual Output ~ Investment
(c) Potential Output — Actual Output (d) Potential Output — Investment
‘@3UrgE W39’ HUR J

(a) TAsfex 3ues - Qusa (b) <Hsfea Gsuwes - foem

(c) Fows 83ues - wA3fex §3uws (d) AT 83us - fosm

Phillips curve describes the relationship between

(a) Real growth and change in unemployment rate
() Rate of inflation and rate of unemployment

(c) Rate of inflation and rate of employment

(d) Wages and real growth rate

fafony Faa fogst feos Fitdu o feeas aaet §

(a) 1A% e m3 Agvardt @ 9 ufseass
(b) HEIHSIST B T w3 AT O €9

(¢) HEIFSISt & 29 w3 grare & €3

@ WS 3 s fea v
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106.

107.

108.

Ihteraction of goods and assets markets jointly determine

(a) Interest rate and income (b) Interest rate and employment rate
(c) Interest rate and investment (d) Investment and consumption
I ni2 Ryt garet- = USRS I fagures aeer

(@) fenity 23 m3 winiEs (b) %m'ﬁea»@ﬁaﬂaﬁrérea
(c) o o w3 foom - (d) f&=m 3 GuSa

If the actual unernployment rate is below the natural rate of unemp]oyment, it would lead

to

~ (a) Phillips curve would shift to the leﬂ

() Rate of inflation would increase
(c) Natural rate of unemployment would fall
(d) Wages would fall

(a) fefeu <oa 98 uR ¥ ufvesss Fafh
(b) HeIwEIS &t &9 =hat

(c) IIFIrst & FEEd &9 wRdt

(d) St wedt

An increase in money supply would lead to

"ﬁmémém&aﬁﬁaméwﬁaﬁzmz% fen &%

- (a) Interest rate to fall, investment to rise and aggregate demand to rise
- (b) Interest rate to fall, investment to fall and aggregate demnand to fall
(c) Interest rate to rise, investment to rise and aggregate demand to rise
(d) Interest rate to rise, investment to fall and aggregate demand to fall

109,

110.

Hear YISt e @ adar

(a) ﬁmmeaﬁaaﬁ,ﬁn%aw»@g&mﬁaw
M) forrs 29 %9 at, foom &8 it w3 g Vi g adt
(c) feorma =3 e oo, fsdm 9 oo i g viar g e
(d) fonra 39 78 o, fRE ¥ ft »2 g% o e it

The tough in business cycle occurs when

(a) Inflation is lowest

(b) Lowest money supply

(c) Aggregated economic activity is lowest
(d) Unemployment is lowest

YT 999 f¥9 Hagdt m@H 3 7

(@) YIRSt falEsHd () fo8x3 year yadt

(©) I&noea fafoor f5@a3n 3 (d) Hgmordt foBa3n d

In the long run, increase in productivity would cause output to___
level to

and aggregate price

(@) fall, fall : (b) fall, rise

(c) rise, fall (d) rise, rise

é\awmﬁa @mazrﬁawﬁsumféa w3 SH3 U9 few _ s Fer 3
(a) o, aft (b) =i, T

(©) =, ft @ FuL T
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111. Stagflation occurs when

(a) ~ Price level increases and real GDP decreases i e

(b) Price level decreases and real GDP increases e

(c) Price level and real GDP decreases simultaneously 5

(d) Price level and real GDP increases simultaneously .y
75 §30s S I : ’

@ s Ufag Juer I mi3 miFG GDP Wiew I

(b) 3 S vige I mi3 wiFS GDP 0 I
(¢c) oHZ Uud 3 niFs GDP & AR wee 5
(d) 3 YT M3 niFES GDP &R AN T8 I8

112. In the long run, a reducﬁon in labour supply could cause output to and aggregated
price lead to _ A
~ (a) rise,rise (b) fall, rise
(c) fall, fall ' (d) rise, fall _ :
Mﬁa,mwﬁﬁammﬁg_m%gaMﬁa_mh
(a) <, U (b) wrer, T
(o) uE, e (d) T, wer
‘113. Keynesian aggregate supply curve takes which of the following shape ?
(a) Vertical (b) Horizontal
" (c) Both (a) and (b) _ {d) Norne of the above
mmmmwmﬁamm@?% ?
(@) HF b B=
(© =< (a) 3 (b) | () SudszaEtat
114. Money is neutral when the change in the money stock lead to change in
(a) Output (b) Pricelevel
(¢) . Employment (d) Interest rate
WETT fsauy gt 3 A Hedr Ao 199 ufe=ass, fon fog ufgeass aaeT O :
(a) G3ues (b) dH3 Uus
() TWars - (@ forrAws
115. The combination of wage-push by workers and government commitment to high
employment lead to: : . ‘
(a) Demand-pull inflation (b) Cost-push inflation
(c) Supply-side inflation (d) Supply-pull inflation .~
W@mﬁ@amﬁmﬁwmnﬂgﬁﬂwwﬁmw% :
(2) ¥or-ffg yearest (b) FEAE-Uar HEIHEIST
(©) uISt-td HeIHEIST (@) yI-fie yeardR
116. Who amongst the following is regarded as the “father of macroeconomics ?
(a) Adam Smith (b) J.MKeynes
() N.G. Malnkiw (d) Schumpeter
ot fefantt 25 far & “FHRS nieERTET & fugrfaar #er 3 2
(a) - W3H AfHE (b) .. &
(©) . 7. sfar (@ wheg
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117. The reduction in investment with expansionary fiscal policy is known as

(a) Cyclical investment () Crowding out
(c) Structural change (d) Deflation
ferf3s gvamt &t 5@ fadn S0 ot Fo@st 9 .
(a) Ut fsem (b) T3 A=
(c) ©OIS TEE™ (D) wmRESt
118. Cost-push inflation is due to - ‘ :
(a) exogenous event (b) shocks to aggregate demand
c) . shocks to a, te supply d) none of the above
o s ST gy © e
(@) T wesret (b) o Har g sea
© IBuTHgsa @ Budss st

119. Disinflation is
(a) Decrease in overall level of prices
(b) Income after indirect taxes
(© Reduction in the rate at which prices are rising
(d) Reduction in GDP deflator
HEg™ nFgtt 3 -
() AT s e ffg andt (b)) 73 TG 3 FMR e
(c) N3 T & o9 Ry we (d)- GDP wea &g =it
120. Which of the following is not a feature of demand for factors of production as compared to
commodities ? .
(a) Itis derived demand. )
(b) Itis governed by margjnal utility of the factor.
(c) Itis joint or combined demand.
(d) Elasticity of demand for a factor of production will depend upon proportion of the
cost of the factor to the total cost of production. : -
Jot fefanit (9 foas TRgw 2 Hare® §3ues 2 Fust &9t 1iar & fedmsT 5t D
(a) feof@zisard
(b) feg 33 & s Gutiars oniror ftisfios At wigt D
() fegddtadgas dard :
() 83uws ¢ AUs B Ha & Bua 83ures € 33 B8 T ATs 9 2 nisus uT
fagsg z9att | . ' :
121. Choose the inappropriate assumption of the marginal productivity theory :
(a) Perfect competition in market for commodities and factors of production.
(b) Homogeneous factors of production. _ o
(c)  Employer attempts to maximise sales and not profits. ‘
(d) No factor unit is prepared to work at less than market remuneration.
FiHiZ € 3 B niEa=! HasT g8 |
(@) ¥AZ T ni3 G3ues AUsT @ BT ¥ yds Haras
(b) E3ueEs 2 AHY AUE
(c) B3uea feadt & vifuasH I95 2 o8 a9er 3 & fa &3
(d) T oE oot sag e 3 ule I st a9t Y |
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122. Value of marginal physical product is defined as:
(a) Marginal revenue product multiplied by price.
(b) Marginal physical product multiplied by price
(c) Marginal physical product divided by price.
(d) Marginal revenue product divided by price.
iz 3fza §3ue T e ufssie iz AT J ¢
(a) FHIZ nmEs §3ue I AIHS
(b) 3 3f3a veew I SR
() Fhi3 3f3x uTE 9T WS
(@ T3 »mEs 83ure I oniat

123. Demand for labour depends on
(a) ' Marginal revenue product of labour
(b) Average product of labour
(¢) Cost of labour
(d) Marginal price of product
HAES! & Mt fages &t 3
(8) HAEd 8 WIS nEs G3uE ‘3
() HAEH 2 viRS G 3
(¢) Mgt & e 3
@ S3uw & Az s ‘3

" . 124. Exploitation of labour is said to arise when

(a) Wage=MRP (b) Wage <MRP

(c) Wage>MRP (d MRP=0

fs o ARE GRds G I -

(8) WAESt = MRP | (b) HAgSt <MRP

() HAEdt >MRP (d) MRP=0
125. Slope of PPC drawn in case of two goods is equal to

(a) MRSx,y (b) MRPTXy

(¢) - MRTSx,y (d) none of these

& ergnit @ Ay e sevet ot PPC & ez 8959 J

(8) MRSxy () MRPTx,y

() MRTSx,y @ feost 8 3t &t
126. World Economic Outlook is released by whom

(a) World bank - (b) IMF

() WTO | (d BRICS

egws feaeia s fan gnirar yarfis it 7t 3

() femedw (b) IMF

() WTO "~ (4 BRICS
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127. What is the broad theme of Economic survey 2014-15 ?
(@) Creating employment and reducing poverty

128.

129.

130.

()

Inclusive growth with sustainable development

(¢)  Creating opportunity and reducing vulnerability
(d) None of these
MIfE ARYE 2014-15 ?ﬁ‘ﬂﬁﬁﬁweﬂaﬁa ?

@ mé@s@mm@mﬁa’fm@g
(b) f5333 feam &% Riufss yart

() »RAI UTT TF& M3 EIEST § Qe
d) fegst &9 at &
Make in India:

(a)
(b)
()
@

N few fEstr o

(a) B g &0 WSZ foezHe FOfimiz § weH aER
®) mmﬁmmmamaﬁa
(©) aé‘fuwgmwuagﬁmﬁaa‘fwsguanaraaa
W) feost fag dot &t

Not by protecting but by Eliminate Negatlve Protectionism
Not by protecting but by Eliminate Positive Protectionism

By protecting but not by Eliminate Negative Protectionism
None of these

What is the percentage share of States in Central dmsnble pool recommendation by -
14" finance commission ?
(@ 425 ) 325
(c) 42 d) 41
14%%%@%@%&@%%3%%&8@?@3%&?5
(a) 42.5 b)) 325
) 42 d 41
Horizontal devolution formula of 14™ finance commission:
Variable | Population |Population| - Fiscal Capacity/ | Area |Forest| Fiscal
(1971) (2011) Income distance cover | discipline
Weights 17.5 10 - 15 ] 75 -
accorded
(a) 50,0 (b) 0,50
) 24,26 (d) 26.5,23.5
14 1%3 »dT @ Horizontal devolution SIHHT J:
g9 | AeRfunr | Ferfour G aday  [839es] 0w | R Ren
1971) | 01D niHes &g nitts
o I
3 | 175 10 - 15 7.5 -
Cr - _
@ 50,0 (®) 0,50
(c) 24,26 (d) 26.5,23.5
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131. Which is the first Indian-Agricultural Product to be accorded by Geographcal Indication

@n? i
(a) Kerala’s Chengalikodan Banana (b) Darjeeling’s Tea ‘.
(c) Kerala’s Coconuts -+ (d) WestBengal’s jute S
FAAMER MEHI(GI) T YerEs Ufowr 319t B3t 83U foger 3 ¢
(a) IAIH T JaHITE AH (b) TIH{BS I IT
() oATH T IS (@) Ut dars & ueHs
132. Which country will chair the 2016-BRICS summit? -
(@ China - (b) - Russia
(c) India (d) South-Africa
2016-BRICS Axt & yarsai forgsr €F KJar
@ B ® gA |
() o33 _ (d) St ned

133. To commemorate the International day of Yoga, the Reserve Bank of India (RBI) recently
announced to issue coins of which denominations ?
(@ T2 ® 5
) %10 @ %125
n3IIESS Ga fo=r He@E o, mﬁmﬁa%aﬁﬁﬁi‘aﬂm-w%ﬁﬁmﬁ
95 o wRET A=t 92

(@ 23w€ ®) 5T
© 103@ (@ 125 u®

134. Which scheme of Government of India (GOI) has been recognized by the Guinness Book
of World Records recently ? _

' (a) Direct benefit transfer of LPG
(b) Pradhan Mantri Jan Dhan Yojna
(c) Atal Mission for Rejuvenation and Urban Transformation
(d) Pradhan Mantri Awas Yojna
wﬂﬁammﬁmﬁmamﬁawmﬁmmmm
G|
(a) LPG &y &3 3&#!8?
(b YIS {3 76 TS GHET
(¢) afomr sy ni3 Afadt guisas Eé} ] fm:m

(d) Yus ¥i3d miEH GAsT

" 135, Which of the following is not correctly matched ? '
(a) Silverrevolution : Eggs - - (b) Greyrevolution : Fertilizers

(¢) Golden revolution : Gold (d) Brown revolution ;: Masaaley
It fifamit T far o A iz 5t Jer 9

(a) Ttttz T (b) . ARS i et

(©) Bafodt it { A (d) gt st WA

Paper-11 (Economics) 28 N o



136.

137.

138.

- 139,

140.

141.

142

Who is the author of this ook ‘Planned Economy for India’ ?

(a) Pt Jawaharlal Nehry (b) M.N Roy

(¢) M. Visvesyaryya (d) None of these
‘Planned Economy for India’UAsa o 3uz 3= 3 -

(@) Ufs3 Aege w1 afag (b) M. N,

(c) WH. fermedhor @) feost G agt &t
The transformation curve is derived from the

(a)  Utility possibility curve (b) Consumption curve
(c) Production contract curve (d) Social welfare
JUEIS Tag st At B '
(@ S Asea @I . () QuETIIT T

(©) SuTsFIgs @I T d) W IferE T
In case of ‘Giffen goods’ a fall in price will lead to

(a) Increase in demand (b) Decrease in demand
(c) No change in demand (d) None of these
fares verget ® Ay g, dhiz Ry fieree a3at

(@) ¥affgao . (b)) ¥a ol

(c) Har 39 st ufgeass &t (@) feaarf‘e%ﬁé’rm?

Revealed preference theory is based on
(a) Weak axiom (b) Strong axiom
(c) Both(a) and (b) (d) None of these
Ydie 39t e fHuis magag Y -
(a) IFTFES ‘3 b)) WE3TES ‘3 _
(© T&@MI@b) @) feost 29 &8t st
Who propounded ‘Diamond Water Paradox’? '
(@ Marshall : - (b) Adam smith
(¢) Jevons (d) Hicks
- Jie-ut fedursm 3w famd aitE A
(a) WIS 3 : (b) WM AfES
() veEHd ) foam3
The firm’s short run marginal cost curve is increasing when
(8) marginal product is increasing ~ (b) marginal product is decreasing
(¢) total fixed cost is increasing (d) _average fixed cost is decreasing
T & B T A3 H91E T U 9t D T
(a) ANZ G3ue Fgfgor d (b) FH3 83U e faor D
(¢) T Afag o= Jo 9t D (d) R3S AfeT 93 W I Y
The slope of the total variable cost curve equals _
(a) average variable cost- - (b) marginal cost
¢) average cost d) marginal physical product
égs ul“aeaag;mg I3 T o WE aauga') b} e
(@) A3 ufgeasarts s (b) AHE T3
(c) WiA3 a8 | (d) FH3 3f3x G3uw
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143. In perfect competition, a firm maximizes profits on thelong run by deciding "

(a) What price to be charge (b) How much capitaltouse .7
(c) How much input to invest (d) None of these iy
(a) AABIFI () A Ut = yiier q9w 9

© ﬁﬁm?ﬁ@am% (d foust &9 et &t

144. The AR curve and industry demand curve are same

(a) incase of monopoly ~ (b) in caseof oligopoly
(c¢) in case of duopoly ' (d) in case of perfect competition
AR =59 n3 Qelal Hal SR AN 06 . .
(a) Bfuara ff9 | (b) resufuad <o
() enftasfdg () yIs s T
145. In case of complimentary goods, cross elasticity of demand will be
(a) Negative ®) Zero
(¢) Unitary _ (d) Infinite
(a) feg=Ha (b fred
(c) fearst (@ nE3

146. Income elasticity of demand will be zero when any given change in income brings
(a) less than proportionate change in its demanded. -
(b) no change in demand at all. _
(c) same proportionate change in demand.
(d) more than proportionate change in demand.
YHT S e 99 e Jedt A9 nines fEE oot &t ufgeess femrger 3
(@) fer 2 i 9 nigw3 5% Wle uld=ass . _

(b) M feo ot ufseasas &dt
() NI Y A nigursa Ufgeess
(@) Ha feu nigus I8 uie ufoesss
147. For a pair substitute goods, if there is a change in price of on commodity (X), then other
- things remaining constant, the change in the quantity demanded of commodity Y is relation
to commodity X will be '
(a) in opposite direction.
(b} no change in demand of Y.
“(¢) - change will be in the same direction.
(d) cannot be determined. _ .
yfsFEns <rgnt @ R 13 &2, g X =g @ oz T ufeeass der 9, feg Jes
e 2 s afoE 3 X g ¥ yEER Y SAg & ia & ws R ufeess e
(o) feudiz fomr fé9 '
(b) Y & ¥ f&T ot ufeeass adt
(c) ufseess mis ferr 88 d<ar
(d) fogoes &dt &3 A AT
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148. When income elasticity of demand is greater than unity, then the commodity is

(@)
(c)

(a)

A luxury commodity (b) A non-related good

A necessity (d) An inferior good
e Har & nmies 39 feardt T du Y 3t g

ffafeemzrzagd = () RadeAduemngd

fex Aga3 3 - (d EFwhr g

(©

149. Demand curve of a normal oommédity falls downward because

L
IL

IH.

IV.

Real income of consumer increases. -

Consumer substitutes dearer commodlty w1th cheap commodity.

Law of diminishing marginal utility operates. -

It is easy to use downward sloping demand curve for analysis and predlctlon

Which of the statement given above the correct ?

(a).

(c)

L

III.
IV.

(a)

LILIV S () LIV
L IL III (d) All of the above ‘
AU IA3 O Heeam I8t ¥ f8aet 9, falfa . )
Quarr & ning ninEs Foet 3 | | |
. - €udasT Hideft 2Rz o AR eFg &% yfsHarus ager J
et A3 QuiiarsT e foom &g der 9 '
ferBnz w3 nigH's Bar@z Bt It Tw gt 1o S T YT s D
LIV _ ®) LIV
L IL, I | d) Gusaz AT

©

150. The main purpose of proposing HDI was:

A. To assess the economic growth with main focus on per capita income and human
capital.

B. To emphasize that people and their capabilities should be the ultimate criteria for
assessing the development of a country.

C. To differentiate between the development perspective regarding national policy of
particular country.

(a) Both A and B are correct (b) Both B and C are correct

(¢)  OnlyBiscorrect - (d)  All of the above

HDI & srelm aas o fu e it | | |

A E-foniadt niies w3 Hdt Uvit 83 Wy a'e9 &8 nivea feas o fsauras a9

B. ?ﬁemﬁﬁaaﬂéﬁam?mmmm@@wwwW
HUEs Jatnt odicor a5

C. ﬁé‘aﬁﬁﬂéﬁﬁm%%ﬁﬁuﬁammﬁmmm

() T AN BHIIE () T B3 CHITE

(¢) fAee B At Y (d) Budez A

Paper-Il (Economics) . D c




SPACE FOR ROUGH WORK

Paper-11 (Economics) | 32

18
f



